ISTR - 1023 / 00

Kit specchi retrovisori in alluminio - 96880781AA - 96880791AA
Aluminium rear-view mirror kit - 96880781AA - 96880791AA

Simbologia

Per una lettura rapida e razionale sono stati impiegati simboli che
evidenziano situazioni di massima attenzione, consigli pratici o
semplici informazioni. Prestare molta attenzione al significato dei
simboli, in quanto la loro funzione e quella di non dovere ripete-
re concetti tecnici o avvertenze di sicurezza. Sono da considerare,
quindi, dei veri e propri “promemoria“. Consultare questa pagina
ogni volta che sorgeranno dubbi sul loro significato.

m Attenzione

La non osservanza delle istruzioni riportate puo creare una situa-
zione di pericolo e causare gravi lesioni personali e anche la morte.

n Importante

Indica la possibilita di arrecare danno al veicolo e/o ai suoi compo-
nenti se le istruzioni riportate non vengono eseguite.

@ Note

Fornisce utili informazioni sull'operazione in corso.
Riferimenti

| particolari evidenziati in grigio e riferimento numerico (Es. @)
rappresentano l'accessorio da installare e gli eventuali componenti
di montaggio forniti a kit.

| particolari con riferimento alfabetico (Es. @) rappresentano i
componenti originali presenti sul motoveicolo.

Tutte le indicazioni destro o sinistro si riferiscono al senso di marcia
del motociclo.

Avvertenze generali

m Attenzione

Le operazioni riportate nelle pagine seguenti devono essere ese-
guite da un tecnico specializzato o da un'officina autorizzata Du-
cati.

m Attenzione

Le operazioni riportate nelle pagine seguenti se non eseguite a re-
gola d'arte possono pregiudicare la sicurezza del pilota.

@ Note

Documentazione necessaria per eseguire il montaggio del Kit & il
Manuale Officina, relativo al modello di moto in vostro possesso.

@ Note

Nel caso fosse necessaria la sostituzione di un componente del kit
consultare la tavola ricambi allegata.

Symbols

The symbols used in this manual are aimed at making reading di-
rect and easy. The symbols are used either to draw the reader's
attention on potentially hazardous conditions, or to give practical
advice or to supply general information. Pay the utmost attention
to these symbols as they are used to remind of technical principles
or safety measures which will not be repeated extensively. They
must therefore be considered as "reminders". Check with this page
in case of doubt about their meaning.

m Warning

Failure to comply with these instructions may put you at risk and
lead to severe injury or death.

n Important

It indicates the possibility of damaging the motorcycle and/or its
components if the instructions are not followed.

@ Notes

It supplies useful information about the operation in progress.
References

The parts highlighted in grey and with a reference number (e.g. @
) represent the accessory to be installed and any assembly compo-
nents supplied with the kit.

The parts with alphabetic reference (e.g. @) represent the original
components present on the motorcycle.

All left and right indications are referred to the motorcycle direc-
tion of travel (forward riding position).

General notes

m Warning

The operations listed in the following pages must be carried out by
a specialised technician or by a Ducati authorised service centre.

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

@ Notes

The Workshop Manual of your motorcycle model is the documen-
tation required to assemble the Kit.

@ Notes

Should it be necessary to change any kit parts, please refer to the
attached spare part table.

m Warning

Operating, servicing and maintaining a passenger vehicle or off-
highway motor vehicle can expose you to chemicals including en-
gine exhaust, carbon monoxide, phthalates, and lead, which are
known to the State of California to cause cancer and birth defects
or other reproductive harm. To minimize exposure, avoid breath-
ing exhaust, do not idle the engine except as necessary, service
your vehicle in a well-ventilated area and wear gloves or wash your
hands frequently when servicing your vehicle. For more informa-
tion go to www.P65Warnings.ca.gov/passenger-vehicle.

DUCATI

PERFORMANLCE




ISTR 1023/ 00

\@/}”

n Importante n Important

| componenti del kit possono essere soggetti ad aggiornamenti; ~ The parts of the kit can be updated; for information always up to
consultare il DCS (Dealer Communication System) per avere infor-  date, please refer to DCS (Dealer Communication System).
mazioni sempre aggiornate.

Pos. ‘ Denominazione ‘ Name

1 Specchietto retrovisore destro RH rear-view mirror

2 Specchietto retrovisore sinistro LH rear-view mirror

3 Vite TCEIF M8x30 TCEIF screw M8x30

4 Vite TCEIF M8x30 filetto sinistro TCEIF screw M8x30 - left thread
5 Rosetta Washer

2 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Smontaggio componenti originali

@ Note

La procedura di smontaggio e la stessa per tutti i motoveicoli con
fissaggio specchietti a vite, per cui viene utilizzata, come esempio,
la procedura da adottare sul modello Diavel 1260.

Svitare in senso orario la vite sinistrorsa (A1) con rosetta (A2) e ri-
muovere lo specchietto sinistro (A). Svitare la vite (B1) con rosetta
(B2) e rimuovere lo specchietto destro (B).

Rimuovere residui di frenafiletti dalle viti (A1), (B1) e dalle madreviti
dei supporti (C) e (D).

Removing the original components

@ Notes

The disassembly procedure is the same for all motorcycles with
rear-view mirror screw fastening. The procedure for Diavel 1260
will be described here as a general example.

Loosen LH screw (A1) with washer (A2) clockwise and remove LH
rear-view mirror (A). Loosen screw (B1) with washer (B2) and re-
move RH rear-view mirror (B).

Remove threadlocker residues from the screws (A1), (B1) and from
the nut threads of supports (C) and (D).

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

N

Montaggio componenti kit

n Importante

Verificare, prima del montaggio, che tutti i componenti risultino
puliti e in perfetto stato. Adottare tutte le precauzioni necessarie
per evitare di danneggiare qualsiasi parte nella quale ci si trova ad
operare.

@ Note

La procedura di montaggio del kit e la stessa per tutti i motovei-
coli con fissaggio specchietti a vite, per cui viene utilizzata, come
esempio, la procedura da adottare sul modello Diavel 1260.

Montaggio specchio retrovisore destro

Posizionare lo specchietto retrovisore destro (1) sul supporto (C) e
impuntare la vite (3) con rondella (5). Serrare la vite (3) alla coppia
indicata.

Assembling the kit components

u Important

Before assembling, check that all parts are clean and in good con-
ditions. Adopt all necessary precautions to avoid damaging any
part you are working on.

@ Notes

The kit assembly procedure is the same for all motorcycles with
rear-view mirror screw fastening. The procedure for Diavel 1260
will be described here as a general example.

RH rear-view mirror assembly

Fit RH rear-view mirror (1) on support (C) and start screw (3) with
washer (5). Tighten screw (3) to the specified torque.

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

Montaggio specchio retrovisore sinistro LH rear-view mirror assembly

Posizionare lo specchietto retrovisore sinistro (2) sul supporto (D) e Fit LH rear-view mirror (2) on support (D) and start screw (4) with
impuntare la vite (4) con rondella (5). Serrare la vite (4) alla coppia  washer (5). Tighten screw (4) to the specified torque.
indicata.

5 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Note / Notes

DUCATI

PERFORMANLCE



ISTR - 1023 / 00

Kit rétroviseurs en aluminium - 96880781AA - 96880791AA
Kit Rickspiegel aus Aluminium - 96880781AA - 96880791AA

Symboles

Pour une lecture rapide et rationnelle on a utilisé des symboles de
mise en évidence de situations demandant une attention maxi-
male, des conseils pratiques ou de simples informations. Faire trés
attention a la signification des symboles, car leur fonction vise a
ne pas répéter les principes techniques ou les mises en garde de
sécurité. Ils doivent étre pris en compte en tant que véritables «
mémorandum ». Consulter cette page en cas de doutes concernant
leur signification.

m Attention

L'inobservation des instructions reportées peut déterminer une si-
tuation de danger et causer de graves lésions personnelles, voire
méme la mort.

n Important

Indigue la possibilité d'endommager le motocycle et/ou ses com-
posants si les instructions reportées ne sont pas effectuées.

@ Remarques

Il fournit des informations utiles pour l'opération en cours.
Références

Les pieces surlignées en gris et la référence numérique (Ex. @)
représentent l'accessoire a installer et les composants éventuels
de montage fournis en kit.

Les pieces avec référence alphabétique (Ex. @) représentent les
composants d'origine présents sur le motocycle.

Toutes les indications a droite ou a gauche se rapportent au sens
de marche du motocycle.

Avertissements généraux

m Attention

Les opérations décrites dans les pages suivantes doivent étre
effectuées par un technicien spécialisé ou par un centre service
agréé Ducati.

m Attention

Les opérations indiquées dans les pages suivantes, au cas ou elles
ne seraient pas effectuées selon les regles de l'art pourraient com-
promettre la sécurité du pilote.

@ Remarques

La documentation nécessaire pour la pose du kit est le Manuel
d'Atelier relatif au modele de moto en votre possession.

@ Remarques

Au cas ou il serait nécessaire d'effectuer le remplacement d'un
composant du kit, il faudra consulter la planche relative aux piéces
détachées ci-jointe.

Symbole

Fir ein schnelles und zweckmaBiges Lesen dieser Anleitung wur-
den Symbole verwendet, die Situationen, die hochste Aufmerk-
samkeit erfordern sowie praktische Ratschldge oder einfache
Informationen hervorzuheben. Achten Sie besonders auf die Be-
deutung dieser Symbole, da sie den Zweck haben, technische Kon-
zepte oder Sicherheitswarnhinweise nicht wiederholen zu miissen.
Sie sind also als echte und wahrhaftige ,Merkzettel" zu bertick-
sichtigen. Nehmen Sie jedes Mal auf diese Seite Bezug, wenn Sie
Zweifel Uber deren Bedeutung haben.

m Achtung

Die Nichtbeachtung der angegebenen Anweisungen kann zu einer
Gefahrensituation flihren und schwere personliche Verletzungen
verursachen oder gar zum Tod fiihren.

n Wichtig

Weist auf eine mogliche Beschadigung des Fahrzeugs und/oder
seiner Bestandteile hin, wenn die angegebenen Anweisungen
nicht befolgt werden.

@ Hinweise

Ubermittelt niitzliche Informationen zum jeweiligen Verfahren.

Bezlge

Bei den grau gekennzeichneten Bestandteilen mit numerischem
Bezug (Bsp. @) handelt es sich um die zu installierenden Teile
und die eventuellen, im Kit enthaltenen Montagekomponenten.

Bei den Bestandteilen mit alphabetischem Bezug (Bsp. @) han-
delt es sich um die am Motorrad vorhandenen Original-Kompo-
nenten.

Alle Angaben wie rechts oder links beziehen sich auf die Fahrtrich-
tung des Motorrads.

Allgemeine Warnhinweise

m Achtung

Die auf den folgenden Seiten beschriebenen ArbeitsmalBnahmen
missen von einem Fachtechniker oder einer Ducati Vertragswerk-
statt ausgefiihrt werden.

m Achtung

Werden die auf den folgenden Seiten beschriebenen Arbeitsmal3-
nahmen nicht fachgerecht ausgefiihrt, kann sich dies auf die Si-
cherheit des Fahrers auswirken.

@ Hinweise

Die fiir die Montage des Kits erforderliche Dokumentation ist das
Werkstatthandbuch des sich in |hrem Besitz befindlichen Motor-
radmodells.

@ Hinweise

Sollte sich der Austausch eines Bestandteils des Kits als erforder-
lich erweisen, ist dazu Bezug auf die beiliegende Ersatzteiltafel zu
nehmen.

DUCATI

PERFORMANLCE



ISTR 1023/ 00

\@/}/@

n Important n Wichtig

Les composants du kit peuvent étre soumis a des mises a jour ;  Die Bestandteile des Kits kdnnen Aktualisierungen unterliegen.
veuillez consulter le DCS (Dealer Communication System) pour des  Lesen Sie stets die Angaben im DCS (Dealer Communication Sys-
informations toujours actualisées. tem), um Informationen zur Verfiigung stehen zu haben, die im-

mer auf dem aktuellen Stand sind.

Pos. | Dénomination Bezeichnung
1 Rétroviseur droit Rickspiegel rechts
2 Rétroviseur gauche Riickspiegel links
3 Vis TCHCF M8x30 Zylinderschraube mit Innensechskant und Flansch M8x30
4 Vis TCHC M8x30 filet gauche Geflanschte Innensechskantschraube M8x30 Gewinde links
5 Rondelle Unterlegscheibe
5 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Dépose des composants d'origine

@ Remarques

La procédure de dépose est la méme pour tous les motocycles avec
fixation des rétroviseurs a vis ; c'est pourquoi on utilise comme
exemple la procédure a adopter sur le modele Diavel 1260.

Desserrer dans le sens des aiguilles d'une montre la vis a gauche
(A7) avec rondelle (A2) et déposer le rétroviseur gauche (A). Desser-
rer la vis (B1) avec rondelle (B2) et déposer le rétroviseur droit (B).

Eliminer les résidus de frein-filet des vis (A1), (B1) et des vis fe-
melles des supports (C) et (D).

Abnahme der Original-Bestandteile

@ Hinweise

Das anzuwendende Abnahmeverfahren trifft auf alle Motorrader
mit Schraubenbefestigung der Rickspiegel zu, daher wurde im
Beispiel das Verfahren am Modell Diavel 1260 dargestellt.

Die linksgangige Schraube (A1) mit Unterlegscheibe (A2) im Uhr-
zeigersinn drehend l6sen, dann den linken Riickspiegel (A) entfer-
nen. Die Schraube (B1) mit Unterlegscheiben (B2) l6sen, dann den
rechten Riickspiegel (B) abnehmen.

Die Riickstéande der Schraubensicherung von den Schrauben (A1),
(B1) und den Schraubenmutter der Halter (C) und (D) entfernen.

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

N

Pose des composants kit

n Important

Avant la pose, vérifier que tous les composants sont propres et en
bon état. Prendre toutes les précautions nécessaires pour éviter
d'endommager toute partie dans laquelle on intervient.

@ Remarques

La procédure de pose du kit est la méme pour tous les motocy-
cles avec fixation des rétroviseurs a vis ; c'est pourquoi on utilise
comme exemple la procédure a adopter sur le modele Diavel 1260.

Montage rétroviseur droit

Positionner le rétroviseur droit (1) sur le support (C) et présenter la
vis (3) avec la rondelle (5). Serrer la vis (3) au couple prescrit.

Montage der Kit-Bestandteile

u Wichtig

Vor der Montage Uberprifen, dass alle Bestandteile sauber sind
und sich im perfekten Zustand befinden. Alle erforderlichen Vor-
sichtsmalBnahmen treffen, um eine Beschadigung des jeweiligen
Bereichs, in den man arbeitet, zu vermeiden.

@ Hinweise

Das anzuwendende Montageverfahren des Kits trifft auf alle Mo-
torrader mit Schraubenbefestigung der Riickspiegel zu, daher wur-
de im Beispiel das Verfahren am Modell Diavel 1260 dargestellt.

Montage des rechten Riickspiegels

Den rechten Rickspiegel (1) am Halter (C) anordnen, dann die
Schraube (3) mit Unterlegscheibe (5) ansetzen. Die Schraube (3)
mit dem angegebenen Anzugsmoment anziehen.

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

a 25 Nm +10%

Montage rétroviseur gauche Montage des linken Riickspiegels

Positionner le rétroviseur gauche (2) sur le support (D) et présen-  Den linken Riickspiegel (2) am Halter (D) anordnen, dann die
ter la vis d'origine (4) avec la rondelle (5). Serrer la vis (4) au couple  Schraube (4) mit Unterlegscheibe (5) ansetzen. Die Schraube (4)
prescrit. mit dem angegebenen Anzugsmoment anziehen.

5 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Remarques / Hinweis

DUCATI

PERFORMANLCE



ISTR - 1023 / 00

Conjunto espelhos retrovisores em aluminio - 96880781AA - 96880791AA
Aluminium rear-view mirror kit - 96880781AA - 96880791AA

Simbolos

Para uma leitura rdpida e racional foram empregues simbolos que
evidenciam situa¢Bes de méaxima atencdo, conselhos préticos ou
simples informacdes. Preste muita aten¢do ao significado dos sim-
bolos, porque a sua funcdo é ndo ter de repetir conceitos técnicos
ou avisos de seguranca. Portanto, devem ser considerados como
verdadeiros “lembretes”. Consulte esta padgina sempre que surgi-
rem duvidas sobre o seu significado.

m Atencao

O ndo cumprimento das instru¢des fornecidas pode criar uma si-
tuacdo de perigo e causar graves lesdes pessoais e até mesmo a
morte.

n Importante

Indica a possibilidade de provocar danos no veiculo e/ou aos seus
componentes se as instru¢des fornecidas ndo forem executadas.

@ Notas

Fornece informacdes Uteis sobre a operacdo em andamento.
Referéncias

As pecas assinaladas a cinzento e a referéncia numérica (Ex. @)
representam o acessorio a instalar e os eventuais componentes de
montagem fornecidos no conjunto.

As pecas com referéncia alfabética (Ex. @) representam os com-
ponentes originais presentes na moto.

Todas as indica¢Ges direito ou esquerdo referem-se ao sentido de
avanco da moto.

Adverténcias gerais

m Atencao

As operacBGes mostradas nas paginas a seguir devem ser execu-
tadas por um técnico especializado ou por uma oficina autorizada
Ducati.

m Atencao

As opera¢Bes mostradas nas pdginas a seguir, se ndo forem execu-
tadas com boa técnica, podem prejudicar a seguranga do condutor.

@ Notas

A documentacdo necessaria para executar a montagem do Con-
junto é o Manual de Oficina, relativo ao modelo de moto em sua
posse.

@ Notas

Caso seja necessdria a substituicdo de um componente do conjun-
to, consulte o quadro de pecas de reposi¢cdo em anexo.

Symbols

The symbols used in this manual are aimed at making reading di-
rect and easy. The symbols are used either to draw the reader's
attention on potentially hazardous conditions, or to give practical
advice or to supply general information. Pay the utmost attention
to these symbols as they are used to remind of technical principles
or safety measures which will not be repeated extensively. They
must therefore be considered as "reminders". Check with this page
in case of doubt about their meaning.

m Warning

Failure to comply with these instructions may put you at risk and
lead to severe injury or death.

n Important

It indicates the possibility of damaging the motorcycle and/or its
components if the instructions are not followed.

@ Notes

It supplies useful information about the operation in progress.
References

The parts highlighted in grey and with a reference number (e.g. @
) represent the accessory to be installed and any assembly compo-
nents supplied with the kit.

The parts with alphabetic reference (e.g. @) represent the original
components present on the motorcycle.

All left and right indications are referred to the motorcycle direc-
tion of travel (forward riding position).

General notes

m Warning

The operations listed in the following pages must be carried out by
a specialised technician or by a Ducati authorised service centre.

m Warning

Carefully perform the operations on the following pages since they
might negatively affect rider safety.

@ Notes

The Workshop Manual of your motorcycle model is the documen-
tation required to assemble the Kit.

@ Notes

Should it be necessary to change any kit parts, please refer to the
attached spare part table.

m Warning

Operating, servicing and maintaining a passenger vehicle or off-
highway motor vehicle can expose you to chemicals including en-
gine exhaust, carbon monoxide, phthalates, and lead, which are
known to the State of California to cause cancer and birth defects
or other reproductive harm. To minimize exposure, avoid breath-
ing exhaust, do not idle the engine except as necessary, service
your vehicle in a well-ventilated area and wear gloves or wash your
hands frequently when servicing your vehicle. For more informa-
tion go to www.P65Warnings.ca.gov/passenger-vehicle.

DUCATI

PERFORMANLCE




ISTR 1023/ 00

\@/}/@

n Importante n Important

Os componentes do conjunto podem sofrer atualizacBes; consulte  The parts of the kit can be updated; for information always up to
0 DCS (Dealer Communication System) a fim de obter informacdes  date, please refer to DCS (Dealer Communication System).
sempre atualizadas.

Pos. | Denominacdo ‘ Name
1 Espelho retrovisor direito RH rear-view mirror
2 Espelho retrovisor esquerdo LH rear-view mirror
3 E/?Briglgso de cabeca cilindrica flangeada com sextavado interno TCEIF screw M8x30
4 Parafuso CCFSI M8x30 rosca esquerda TCEIF screw M8x30 - left thread
5 Arruela Washer

2 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Desmontagem dos componentes originais

@ Notas

O procedimento de desmontagem é o mesmo para todas as motos
com fixacdo dos espelhos retrovisores com rosca, pelo que é utili-
zado, como exemplo, o procedimento a adotar no modelo Diavel
1260.

Desatarraxe no sentido hordrio o parafuso de rosca esquerda (A1)
com arruela (A2) e remova o espelho retrovisor esquerdo (A). De-
satarraxe o parafuso (B1) com arruela (B2) e remova o espelho re-
trovisor direito (B).

Remova os residuos de trava-roscas dos parafusos (A1), (B1) e das
fémeas dos suportes (C) e (D).

Removing the original components

@ Notes

The disassembly procedure is the same for all motorcycles with
rear-view mirror screw fastening. The procedure for Diavel 1260
will be described here as a general example.

Loosen LH screw (A1) with washer (A2) clockwise and remove LH
rear-view mirror (A). Loosen screw (B1) with washer (B2) and re-
move RH rear-view mirror (B).

Remove threadlocker residues from the screws (A1), (B1) and from
the nut threads of supports (C) and (D).

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

N

Montagem dos componentes do conjunto

n Importante

Verifique, antes da montagem, se todos os componentes estdo
limpos e em perfeito estado. Adote todas as precau¢des necessa-
rias para evitar danificar qualquer peca com a qual deve trabalhar.

@ Notas

O procedimento de montagem do conjunto é o mesmo para todas
as motos com fixagcdo dos espelhos retrovisores com rosca, pelo
que ¢é utilizado, como exemplo, o procedimento a adotar no mo-
delo Diavel 1260.

Montagem do espelho retrovisor direito

Posicione o espelho retrovisor direito (1) no suporte (C) e encoste
o parafuso (3) com a anilha (5). Aperte o parafuso (3) ao binario
indicado.

Assembling the kit components

u Important

Before assembling, check that all parts are clean and in good con-
ditions. Adopt all necessary precautions to avoid damaging any
part you are working on.

@ Notes

The kit assembly procedure is the same for all motorcycles with
rear-view mirror screw fastening. The procedure for Diavel 1260
will be described here as a general example.

RH rear-view mirror assembly

Fit RH rear-view mirror (1) on support (C) and start screw (3) with
washer (5). Tighten screw (3) to the specified torque.

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

Montagem do espelho retrovisor esquerdo LH rear-view mirror assembly

Posicione o espelho retrovisor esquerdo (2) no suporte (D) e encos-  Fit LH rear-view mirror (2) on support (D) and start screw (4) with
te o parafuso (4) com a anilha (5). Aperte o parafuso (4) ao bindrio  washer (5). Tighten screw (4) to the specified torque.
indicado.

5 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Notas / Notes

DUCATI

PERFORMANLCE



ISTR - 1023 / 00

Kit espejos retrovisores de aluminio - 96880781AA - 96880791AA
FILEZOLE)7EaA—SIF—F v b - 96880781AA - 96880791AA

Simbolos

Para que la lectura resulte mas rapida y racional, se han utilizado
simbolos que evidencian situaciones de méaxima atencién, conse-
jos practicos o simples informaciones. Prestar mucha atencién al
significado de los simbolos, porque su funcién es la de sustituir
conceptos técnicos o advertencias de seguridad que no serdn re-
petidos. Por lo tanto, deben considerarse verdaderos "recordato-
rios". Consultar siempre esta pagina en caso de dudas sobre su sig-
nificado.

m Atencién

La inobservancia de las instrucciones puede originar situaciones de
peligro y lesiones graves o mortales.

n Importante

Indica la posibilidad de dafiar el vehiculo y/o sus componentes si
no se observan las instrucciones.

@ Notas

Suministra informacién Util sobre la operacién en curso.

Referencias

Las partes resaltadas en gris y la referencia numeérica (Por ej. @)
representan el accesorio que se debe instalar y los demas compo-
nentes de montaje suministrados en el kit.

Los detalles con referencia alfabética (p. e]. @) representan los
componentes originales presentes en la motocicleta.

Todas las indicaciones derecho o izquierdo se refieren al sentido de
marcha de la motocicleta.

Advertencias generales

m Atencién

Las operaciones indicadas en las paginas siguientes deben reali-
zarlas un técnico especializado o un taller autorizado Ducati.

m Atencién

Las operaciones descritas en las siguientes paginas deben realizar-
se correctamente para no perjudicar la seguridad del piloto.

@ Notas

El documento necesario para realizar el montaje del Kit es el Ma-
nual de Taller del modelo de moto que poseen.

@ Notas

Si fuera necesario sustituir un componente del kit, consultar la ta-
bla de recambios adjunta.

UL

FERIDOAEMIHAMED D ZENTEL LI, A~v=a7T
TN OO RV EEAL, R RBOEE ZH ) BN
H oI, HERFEE, £ REREWHMBEICLTCHY =7,
HIROBE SR RITET 2B E 20 R LT 2 Lm0 K
IHEFEL TWAB DT, BV U RILVOERICTHSEREL TS
W, UARLE, EBEEO R EXT ThobEEZ TS
W, VYURILR EOBWR DL otz BRICE Y A
T, BT ZON=TTHRD LI L TLTEEN,

&tt

ufﬁﬁﬂ BMSF Lo oA, BEEOABBLUORTCICEL L
@iﬁﬁi% D ET,

o

Rl SN TV ONERETSNRWEE, Bk L O &2
BETLBENARH L EERLTVET,

oJpe

FE T OAFEFEZ DN T
Ee

R TFRRT b, BLOBEES 0 (1) TERFET D
. %y MHET DI A RS L OIS Tl & R L E
+,

Oz iRt L £,

BRTAT 7Ry b (EBs. A) CEAETHHMMIE, EEICAHET
LAV TR E R LET,
FELITE VD ETLIZ

T RTHEBOETI I D> TORE

FaE®RLET,
—REEEER
%’Zﬂ:
U\T@/\w““ﬁziﬂﬁiéﬂfwé{?%@\ B OEATE. E2IT R
v AT A TEHY— A X =N EE LT ) A
e
UTOR=VICRHBEEINTWDEENBEB VY ICFEH S hgn

& TA X —OREWEENTBENARDH Y £7,

O

Xy FORY ITFICHERERHY, BTEDOHEET T KIS
THY—r gy Fv=a T ILTT,

O

F v FOWEERBT DLEDRDH DY
FKEZRLTIIZE,

AT, O ART R—

DUCATI

PERFORMANLCE



ISTR 1023/ 00

\@/}”

n Importante n BEE

Es posible que los componentes del kit sean actualizados; consul- & v ORI MIFEHF NI 03 H 0 £9, DCS (Dealer
tar el DCS (Dealer Communication System) para tener informacién ~ Communication System) b EIZEHTOERE T = v 795 K

siempre al dia. 2L TLIEE N,
Pos. | Denominacién B
1 Espejo retrovisor derecho HFVT7Ea2—IT7—
2 Espejo retrovisor izquierdo EVT7Ea2—T—
3 Tornillo TCEIF M8x30 77 J == TCEIF M8x30
4 Tornillo TCEIF M8x30 rosca izquierda ALy Rff& A7 U =— TCEIF M8X30
5  Arandela T —

2 DUCATI

PERFORMANLCE



ISTR 1023 / 00

Desmontaje componentes originales

@ Notas

El procedimiento de desmontaje es el mismo para todas las mo-
tocicletas con fijacion de los espejos con tornillo, por lo tanto, se
utiliza como ejemplo el procedimiento que se debe adoptar en el
modelo Diavel 1260.

Desatornillar en el sentido de las agujas del reloj el tornillo ros-
ca izquierdo (A1) con arandela (A2) y quitar el espejo izquierdo (A).
Desatornillar el tornillo (B1) con arandela (B2) y quitar el espejo
derecho (B).

Quitar los residuos de compuesto para roscas de los tornillos (A1),
(B1) y de las roscas de los soportes (C) y (D).

Z ) OFIVIERERDERY L

O

WA LFIEILZI T —NAZ ) 2 —THESN TS TR TOH
WCdE T, = 2T L LT Diavel 1260 EF/LOIEZETFIE
R L CWET,

EHEEA7Ya— (A) 2V vy — (A2) &—HEICRRHEIY (T
BOTHL, £IT7— (A 2BV LET, 27V =2— (B) %
Uyir— (B2) L—HZHL, AIT7— (B) ZIVALET,

27V a— (A, Bl) &~ rpU—FK227Y=2— (0. (D)
2> Tndrye y 7 Al2 R0 BRE £,

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

N

Montaje componentes kit

n Importante

Antes del montaje, comprobar que todos los componentes se en-
cuentren limpios y en perfecto estado. Adoptar todas las precau-
ciones necesarias para evitar dafiar cualquier parte en la que se
debe operar.

@ Notas

El procedimiento de montaje del kit es el mismo para todas las
motocicletas con fijacién de los espejos con tornillo, por lo tanto,
se utiliza como ejemplo el procedimiento que se debe adoptar en
el modelo Diavel 1260.

Montaje espejo retrovisor derecho

Posicionar el espejo retrovisor derecho (1) en el soporte (C) e intro-
ducir el tornillo (3) con arandela (5). Ajustar el tornillo (3) al par de
apriete recomendado.

v MEBRDEY 1

o

B R ORIC 2T ORBICENS R, SEERRETHS = &
EHER LT ESV, (EET DHA S LRV L 5 12, BB
FTARTOTPHEEZHE L TIIZEN,

O

Fv FORVAAFTFIEZIIFZ—BNAZ7 Y 2a—THEESNRTNDT
NTOHEMIZIETT, T2 THEHIE LT Diavel 1260 EF /LD
EEFIHZTZH L TOET,

BEUYT7EL—IF5—0OmRY [T

FIVT7E2—3IF7— () 2~ b (O LIZEHEL, A7 U a2—
B 2UVvvy— (5) —HlIcELIALET, 27 Va— 3) &
HED bV 7 ThEDAHT £,

DUCATI

PERFORMANLCE



ISTR 1023 / 00

25 Nm £ 10%

a 25 Nm +10%

Montaje espejo retrovisor izquierdo E)T7EaA—Z5—0DRYFIT

Posicionar el espejo retrovisor izquierdo (2) en el soporte (D) ein- AU 7Ea2—I7— (2) #~v> bk (D) EiIZREL, A7 VU=
troducir el tornillo (4) con arandela (5). Ajustar el tornillo (4) alpar — (4) Y vy v — (5) & —HIIELIALTT, A7 U a— (4)
de apriete recomendado. EHUED MV 7 TREORIT £

DUCATI

5 PERFORMANLCE



ISTR 1023 / 00

Notas / &%

DUCATI

PERFORMANLCE



L —AEREm &EXE
AN o

1 PN [l
2 PN Bt
3 PN [EERES
4 PN [SEEES
5 PN [EEEE

HER AR

FiF LS L —RAERA#mZE FeeBEmIcEE L. Y—F v FETDHIC
%IJ}EH L/\ - 'Qﬁiﬁ‘:‘i*”ﬁﬁ Li@/\/o

BHHEEES ZDM ETIV&A

BERES THEXH

Ny AT ERR Y bT =V EERAMR

HERRIC LR L —AEAMmERFE L. L—AERESBmDO THBREE
aPAW e LE LT

ARFEIEE S AocH F B =
AR\ SAL

1. LEECEADLE., 7 72—t —)VERETF A.LTL T, FAX : 03- 6692 - 1317
2. ERWUHFE Bl MTTERLIEE,



